



ISSN: 0067-2904

Pure Essential Submodules

Omar Hameed Ibrahim, Nuhad Salim Al-Mothafar

Department of Mathematics, College of Science, University of Baghdad, Baghdad-Iraq

Received: 24/12/2023

Accepted: 3/6/2024

Published: 30/5/2025

Abstract.

In this work, we generalized the notion of essential submodules by introduce the notion that namely pure essential submodules. We also introduce two notions pure relative complement submodules and pure uniform modules, as well as some other related concepts. The fundamental characteristics of these ideas are investigated.

Keywords: Essential submodule, pure essential submodules, pure relative complement submodules, pure uniform modules.

المقاسات الجزئية الأساسية النقية

عمر حميد إبراهيم، نهاد سالم المظفر

قسم الرياضيات، كلية العلوم، جامعة بغداد، بغداد العراق

الخلاصة

في هذا البحث نقوم بتعميم فكرة المقاسات الجزئية الأساسية من خلال تقديم فكرة المقاسات الجزئية الأساسية النقية. كما نقدم أيضًا مفهومين للمقاسات الجزئية التكميلية النسبية النقية والمقاسات المنتظمة النقية، وبعض المفاهيم الأخرى ذات الصلة. تم استكشاف الخصائص الأساسية لهذه المفاهيم.

1. Introduction

Consider R be a commutative ring with identity and M be unitary R -module. Anderson and Fuller in [1] referred to as the submodule N of a left R - module M is called pure if $IM \cap N = IN$ for every ideal I of the ring R [2-4]. A submodule N of M is called an essential (or M is called an essential extension of N) ($N \leq_e M$), if $N \cap L \neq 0$, for each non-zero L submodule of M [5-7]. An R -module M namely an uniform if each non-zero submodule of M is essential [8]. In [9] presented a nation of semi-essential sub modules as an extension from a class of essential submodules. Researchers claimed so a non-zero submodule H of M is known as semi-essential, if $H \cap P \neq (0)$ for all non-zero prime submodule P in M . In 1997, AL-Thani investigated a new concept, which is known as P -essential submodules, where a submodule K of an R - Mod M is called P -essential in M and denoted ($K \leq' M$), in case for every pure submodule L of M , $K \cap L = (0)$ implies $L = (0)$, [10].

Zhou and Zhang in [11] defined a generalization of essential submodules, which are called s -essential, as follow a submodule U is called s -essential in module M , if $U \cap T \neq 0$

*Email: omar1979hameed@gmail.com

for each non-zero T is small submodule of M . Recall that an R -submodule T of an R -module M is called small (briefly $N \ll M$) if, for all $K \leq M$ with $T + K = M$ implies $K = M$ [6, P.106]

The primary goal of this study is to introduce concepts of pure essential submodules and pure uniform modules as popularization of the essential submodule and uniform module. In Section 2 we study some of characterizations for pure essential submodules and extend certain well-known features of essential submodules to pure essential submodules. And we provide restrictions which that a submodule of a finitely generated faithful multiplication R -module gets pure essential. While in the Section 3, we extend a notion of relative complement of a submodule by new generalization which is called pure relative complement. In Section 4, we offer the pure uniform module notion as an extension from a uniform notion. Additionally, we make generalizations as description additionally to a few from some uniform module characteristics for pure uniform modules.

2. Pure -essential submodules

This section introduces a new submodule class also referred to pure essential submodules, we study some of the characteristics for this kind of submodules.

Definition 2.1:

A submodule K of a left R -module M is called pure essential submodule of M , briefly (Pr -essential), and denoted for $(K \trianglelefteq_{pr} M)$, if $K \cap L = (0)$, indicates that L is a pure submodule of M .

Remarks and examples 2.2:

1. It is clear that every essential is Pr - essential. Thus $2Z$ in Z as a Z - Mod is a Pr - essential.
2. The converse of (1) in general is not true. For example: in Z_6 as Z - module, $(\overline{3}) \cap (\overline{2}) = (\overline{0})$, implies $(\overline{2})$ is a pure sub module of Z_6 , so $(\overline{3})$ is a Pr - essential in Z_6 , but $(\overline{3})$ is not essential in Z_6 since $(\overline{2}) \neq (\overline{0})$, also $(\overline{2})$ is a Pr - essential in Z_6 as Z - Mod but not an essential.
3. Each direct summand of an R - Mod is pr -essential. Actually each submodule in a semi simple module is a Pr - essential.
4. A Pr - essential need not to be p - essential. For example: in Z_6 as Z - Mod, $(\overline{3})$ is a Pr - essential in Z_6 since $(\overline{3}) \cap (\overline{2}) = (\overline{0})$, implies $(\overline{2}) \leq_p Z_6$, but it is not a p -essential since $(\overline{2}) \neq (\overline{0})$.
5. In Z_{36} as Z -Mod $(\overline{4}) \oplus (\overline{9}) = Z_{36}$. $(\overline{4}), (\overline{9})$ are pure submodules of Z_{36} as Z -Mod. $(\overline{18})$ is not a Pr - essential in Z_{36} since $(\overline{18}) \cap (\overline{12}) = (\overline{0})$, but $(\overline{12})$ is not pure in Z_{36} .
6. (0) is not a Pr - essential submodule for any module M .
7. M is a Pr - essential submodule of any R - Mod M .

Proposition 2. 3:

Let N, K, L be submodules of an R - Mod M , such that $N \leq K \leq L \leq M$. If $N \trianglelefteq_{pr} M$, then $K \trianglelefteq_{pr} L$.

Proof: Let $H \leq L$ such that $K \cap H = (0)$. Since $H \leq L$, then $H \leq M$ also $N \cap H \leq K \cap H = (0)$, hence $N \cap H = (0)$, since $N \trianglelefteq_{pr} M$, then H is pure submodule in M . But $H \leq L$, then by [12] H is a pure submodule in L .

Corollary 2.4:

Consider A, B and C be submodules from an R - Mod M such that $A \leq B \leq C \leq M$, with C be a pure submodule of M . If $A \trianglelefteq_{pr} M$, then $A + B \trianglelefteq_{pr} C$.

Proof: Since $A \leq A + B$, then by Proposition 2.3, $A + B \trianglelefteq_{pr} C$.

Remark 2.5:

Let $f: M_1 \rightarrow M_2$ be an R -homomorphism. If $N \trianglelefteq_{pr} M_1$. Then $f(N)$ need not be pr -essential in M_2 . As the following example show: Let $f: Z \rightarrow Z_2$ define as

$$f(n) = \begin{cases} \bar{1} & n \text{ is odd;} \\ \bar{0} & n \text{ is even.} \end{cases}$$

$$(\bar{2}) = 2Z \leq Z, 2Z \trianglelefteq_{pr} Z \text{ but } f(2Z) = \bar{0} \text{ is not a } pr\text{-essential in } Z_2.$$

Proposition 2.6:

Let $f: M_1 \rightarrow M_2$ be an R -epimorphism. If $N \trianglelefteq_{pr} M_2$, then $f^{-1}(N) \trianglelefteq_{pr} M_1$.

Proof: Let $L \leq M_1$ such that $f^{-1}(N) \cap L = (0)$. $N \cap f(L) = f(0)$, then $N \cap f(L) = (0)$, since $N \trianglelefteq_{pr} M_2$, then $f(L) \leq_p M_2$, by [13] $f^{-1}(f(L)) \leq_p M_1$. Therefore, $L \leq_p M_1$.

Proposition 2.7:

Let A, B be submodules from a left R -Mod M . If $A \cap B \trianglelefteq_{pr} M$, then $B \trianglelefteq_{pr} M$ and $A \trianglelefteq_{pr} M$.

Proof: Let L be a submodule of M such that $A \cap L = (0)$. $(A \cap B) \cap L \leq A \cap L = (0)$, then $(A \cap B) \cap L = (0)$. Since $A \cap B \trianglelefteq_{pr} M$, implies that $L \leq_p M$. By similar way we get that $B \trianglelefteq_{pr} M$.

Remark 2.8: Let A, B be submodules of M . If $A \trianglelefteq_{pr} M$ and $B \trianglelefteq_{pr} M$. Then $A \cap B$ need not be a Pr -essential in M . For example: in Z_{36} as Z -Mod. $(\bar{4}) \trianglelefteq_{pr} Z_{36}$, since $(\bar{4}) \cap (\bar{9}) = (\bar{0})$ implies $(\bar{9}) \leq_p Z_{36}$. Also, $(\bar{6}) \trianglelefteq_{pr} Z_{36}$, since $(\bar{6}) \leq_e Z_{36}$. But $(\bar{4}) \cap (\bar{6}) = (\bar{12})$, which is not Pr -essential in Z_{36} , since $(\bar{12}) \cap (\bar{18}) = (\bar{0})$ but $(\bar{18})$ is not a pure in Z_{36} .

Remark 2.9:

If $N \trianglelefteq_{pr} M$. Then $N \cap K \trianglelefteq_{pr} M \cap K$, for any submodule K of M .

Proof: Let $H \leq M \cap K$, then $H \leq M$ and $H \leq K$, such that $(N \cap K) \cap H = (0)$.

Hence, $N \cap (K \cap H) = (0)$, then $N \cap H = (0)$ (since $H \leq K$). Since $N \trianglelefteq_{pr} M$, then $H \leq_p M$. But $H \leq M \cap K$ then $H \leq_p M \cap K$.

An R -Mod M is said to be pure simple, if the only pure submodule of M are (0) and M , [14].

Proposition 2.10:

Let M be a pure simple R -Mod. If $K \trianglelefteq_{pr} M$ with $N \leq K$ and $N \leq_p M$, then $\frac{K}{N} \trianglelefteq_{pr} \frac{M}{N}$.

Proof: Let $\frac{L}{N} \leq \frac{M}{N}$ such that $\frac{K}{N} \cap \frac{L}{N} = (0)$ implies $K \cap L = N$. Since $N \leq_p M$, then $K \cap L \leq_p M$. Since M is pure simple, and $K \cap L \neq M$, then $K \cap L = (0)$. But $K \trianglelefteq_{pr} M$, hence $L \leq_p M$, by [12] $\frac{L}{N} \leq_p \frac{M}{N}$.

Proposition 2.11:

Let N and K be submodules of M , with $K \leq N$. If $\frac{N}{K} \trianglelefteq_{pr} \frac{M}{K}$ and $K \leq_p M$, then $N \trianglelefteq_{pr} M$.

Proof: Let $H \leq M$ such that $N \cap H = (0)$, then $\frac{N \cap H}{K} = \frac{(0)}{K}$ so $\frac{N}{K} \cap \frac{H}{K} = (0)$, since $\frac{N}{K} \trianglelefteq_{pr} \frac{M}{K}$, implies $\frac{H}{K} \leq_p \frac{M}{K}$. Since $K \leq_p M$, then by [12] $H \leq_p M$.

Theorem 2.12:

Let M be a pure simple R -Mod and $A \leq B \leq M$. Then $A \trianglelefteq_{pr} M$ if and only if $A \trianglelefteq_{pr} B$ and $B \trianglelefteq_{pr} M$.

Proof: \Rightarrow) Let $L \leq M$ such that $B \cap L = (0)$. To prove that $L \leq_p M$.

$A \cap L \leq B \cap L = (0)$, so that $A \cap L = (0)$. Since $A \trianglelefteq_{pr} M$, then $L \leq_p M$.

Let $C \leq B$ such that $A \cap C = (0)$. To prove that $C \leq_p B$.

As $C \leq M$ and $A \leq_{pr} M$, then $C \leq_p M$. Hence, by [12, Remark 2.1, p. 14] we obtain $C \leq_p B$.

\Leftarrow) Let $H \leq M$ such that $A \cap H = (0)$. To prove that $H \leq_p M$.

$(A \cap H) \cap B = (0) \cap B$ then $A \cap (H \cap B) = (0)$, since $A \leq_{pr} B$, then $H \cap B \leq_p M$, since M is a pure simple, then either $H \cap B = (0)$ or $H \cap B = M$ which is a contradiction. So, $B \cap H = (0)$, since $B \leq_{pr} M$, implies $H \leq_p M$.

Recall that we say a multiplication of an R -Mod M if for every sub module N of M , there is an ideal I in R so that $N = IM$, also M is called faithful if $\text{ann}M = 0$ [15], [16].

Theorem 2.13:

An ideal I of a ring R is a pr -essential if and only if IM is a Pr -essential submodule of M . Where M be a finitely generated faithful multiplication R -Mod.

Proof: \Leftarrow) Assume that J is an ideal in R , such that $I \cap J = (0)$. To prove that $J \leq_p R$. $(I \cap J)M = (0)M$, implies $IM \cap JM = (0)$, since $IM \leq_{pr} M$, then $JM \leq_p M$. Hence, by [15] we have $J \leq_p R$.

\Rightarrow) Let $H \leq M$ such that $IM \cap L = (0)$. To prove that $H \leq_p M$. Considering that M is multiplication, then $H = JM$, for some $J \leq R$. $IM \cap JM = (0)$, then $(I \cap J)M = (0)M$. Since M is a finitely generated faithful multiplication, hence by [17] we have $I \cap J = (0)$. But $I \leq_{pr} R$, implies that $J \leq_p R$ [18]. Hence, JM is pure in M . Thus $H \leq_p M$ and $IM \leq_{pr} M$.

A left R -Mod M is said to be a cancelation module, if whenever $IM = JM$, at I and J representing ideals of R , then $I = J$, [19].

Corollary 2.14:

Let M be a cancelation R -Mod, and I any ideal of R . If $IM \leq_{pr} M$, then $I \leq_{pr} R$.

Proof: Clear by Theorem 2.13.

Corollary 2.15:

Let M be a cancelation and multiplication R -Mod. If $A \leq_{pr} M$, then $[A:M] \leq_{pr} R$.

Proof: Since M is multiplication implies that $A = [A:M]M$, [17]. But $A \leq_{pr} M$, hence by Corollary 2.14, $[A:M] \leq_{pr} R$, where $[A:M]$ is the residual of A by M , which is the set of all r in R such that $rM \subseteq A$, [15].

An R -Mod M is said to be F -regular (regular), if every submodule of M is pure, [20].

Proposition 2.16:

Let M be a regular R -Mod and let $E \leq M$, then $E \leq_{pr} M$ if and only if $E \leq_e M$.

Proof: Clear.

Recall that a submodule $Z(M)$ of a left R -Mod M , where $Z(M) = \{m \in M \mid \text{ann}(m) \leq_e R\}$ is said to be singular submodule of M , [5].

Proposition 2.17:

If $N \leq_{pr} M$ and $Z(N) = (0)$, then $Z(M) \leq_p M$.

Proof: Since $Z(N) = N \cap Z(M)$ [5], then $N \cap Z(M) = (0)$. But $N \leq_{pr} M$, implies $Z(M) \leq_p M$.

Let N be a submodule of an R -Mod M . A submodule K in M is called a relative complement for N in M , if K is maximal with respect to the property $N \cap K = 0$. (i.e., if there exists $K' \leq M$ such that $K \leq K'$ with $K' \cap N = 0$ implies $K = K'$, [5]. In this part, we study a pure relative complement notion as a broadening of the relative complement submodule concept.

Definition 2.18:

Let N and K be submodules of an R -Mod M , K is called pure- relative complement (Pr -relative complement) of N in M . If K is maximal pure submodule with respect to property $K \cap N = (0)$.

Remarks and examples 2.19:

1. It is clear that every relative complement is Pr -relative complement. Thus $(\bar{2})$ in Z_6 as Z -Mod is a Pr -relative complement of $(\bar{3})$ in Z_6 as Z -Mod.

2. If $N \leq M$, then a Pr -relative complement for N in M may not be unique. For example: Consider $M = Z_2 \oplus \{\bar{0}\} = \{(\bar{0}, \bar{0}), (\bar{1}, \bar{0})\}$

$$K_1 = \{\bar{0}\} \oplus Z_2 = \{(\bar{0}, \bar{0}), (\bar{0}, \bar{1})\}, \quad K_2 = Z(\bar{1}, \bar{1}) = \{(\bar{0}, \bar{0}), (\bar{1}, \bar{1})\}$$

K_1 and K_2 are pure submodules in M , $N \cap K_1 = (\bar{0}, \bar{0})$, implies that K_1 is maximal pure submodule of M , $N \cap K_2 = (\bar{0}, \bar{0})$, implies that K_2 is maximal pure submodule of M . Thus K_1 and K_2 are Pr -relative complement for N in M .

3. If N is a Pr -relative complement to K in M , then K may not be a Pr -relative complement to N in M . For example: Consider $N = (\bar{2})$ and $K = (\bar{0})$ are submodules of Z_4 as Z -Mod. $(\bar{0})$ is a Pr -relative complement to $(\bar{2})$ in Z_4 . But $(\bar{2})$ is not a Pr -relative complement to $(\bar{0})$ in Z_4 , since $(\bar{0}) \cap Z_4 = (0)$, where $(\bar{2})$ is not maximal pure submodule of Z_4 .

4. In Z_6 as Z -Mod $(\bar{2}) \cap (\bar{3}) = (\bar{0})$. $(\bar{3})$ is a Pr -relative complement to $(\bar{2})$ in Z_6 , and $(\bar{2})$ is a Pr -relative complement to $(\bar{3})$ in Z_6 .

Proposition 2.20:

If $M = N \oplus K$, where N and K are submodules of an R -Mod M . Then K is a Pr -relative complement to N in M , and N is a Pr -relative complement to K in M .

Proof: $N \cap K = (0)$, since $M = N \oplus K$, then by [9] N and K are pure sub-modules of M . Let there exist $K' \leq M$ such that $K \leq K' \leq M$ and $N \cap K' = (0)$, since $M = N + K$ and $K \leq K' \leq M$, then $M = N + K' = N + K$, implies that $K = K'$, hence K is a Pr -relative complement to N in M . By similar way we prove that N is a Pr -relative complement to K in M .

Proposition 2.21:

Let A, B be submodules of an R -Mod M , with $A \trianglelefteq_{pr} M$. If B is a Pr -relative complement to A in M , then $A \oplus B \trianglelefteq_{pr} M$.

Proof: Let $C \leq M$ such that $(A \oplus B) \cap C = (0)$. $(A \oplus B) \cap C = (0)$, then $A \cap (B + C) = (0)$, since $A \trianglelefteq_{pr} M$, implies $B + C \leq_p M$. But B is a Pr -relative complement to A in M , then B is a maximal pure in M . $B \leq B + C$, hence $B = B + C$, implies $C \leq B$ so $(0) = (A \oplus B) \cap C$, $(0) = (A \cap C) + (B \cap C)$, then $(0) = (A \cap C) + C$, hence $C = (0)$. Since (0) is a pure in M . Thus $C \leq_p M$.

Remark 2.22:

If $N \oplus K \trianglelefteq_{pr} M$. Then K may not be a Pr -relative complement to N in M . For example: consider Z_{36} as Z -Mod. Let $N = (\bar{9})$ and $K = (\bar{12})$ are submodules of Z_{36} as Z -Mod.

$N \oplus K = (\bar{9}) \oplus (\bar{12}) = (\bar{3}) \trianglelefteq_{pr} Z_{36}$, but $(\bar{12})$ is not a Pr -relative complement to $(\bar{9})$. Since $(\bar{12})$ is not maximal pure with respect to $(\bar{9}) \cap (\bar{12}) = (\bar{0})$.

3. Pure – uniform modules

A non-zero left R -Mod M namely a uniform, if each non-zero submodule in M is an essential, [5]. We provide here, a pure uniform an R -Mod notion as a broadening of the uniform module notion. We also expand a several uniform module features to pure-uniform modules.

Definition 3.1:

A non-zero R -Mod M is said to be pure-uniform, briefly (*Pr*-uniform), if for all nonzero sub module in M is *Pr*-essential.

Remarks and examples 3.2:

1. It is clear that each uniform R -Mod is a *Pr*-uniform. For example: Z_8 as Z -Mod is a *Pr*-uniform.
2. In general the convers of (1) is not true. For example: Z_{24} as Z -Mod is a *Pr*-uniform but not uniform. Since $(\bar{3})$ is not an essential submodule of Z_{24} .
3. Every semi simple module is a *Pr*-uniform. For example: Z_6 as Z -Mod.

Theorem 3.3:

Let M be a finitely generated faithful multiplication R -Mod. Then M is a *Pr*-uniform module if and only if R is a *Pr*-uniform ring.

Proof: \Rightarrow) Let $I \leq R$, then $IM \leq M$. Since M is *Pr*-uniform module, implies $IM \trianglelefteq_{pr} M$. By Theorem 2.13, $I \trianglelefteq_{pr} R$. Thus R is a *Pr*-uniform ring.

\Leftarrow) Suppose that $L \leq M$, since M is multiplication R -Mod, then $L = IM$, where $I \leq R$. But R is a *Pr*-uniform ring, hence $I \trianglelefteq_{pr} R$. By Theorem 2.13, $IM \trianglelefteq_{pr} M$. Thus M is *Pr*-uniform module.

Corollary 3.4:

Let M be a cancelation R -Mod, and let I be any ideal of the ring R . If M is *Pr*-uniform module, then R is a *Pr*-uniform ring.

Proof: By Corollary 2.14.

Proposition 3.5:

Let $f: M_1 \rightarrow M_2$ be an R -epimorphism. If M_2 is a *Pr*-uniform module, then M_1 is a *Pr*-uniform module.

Proof: Let $L \leq M_1$, so $f(L) \leq M_2$, since M_2 is a *Pr*-uniform module, then $f(L) \trianglelefteq_{pr} M_2$. By Proposition 2.6, $f^{-1}(f(L)) \trianglelefteq_{pr} M_1$. Hence, $L \trianglelefteq_{pr} M_1$.

Proposition 3.6:

Let $M = M_1 \oplus M_2$ be R -Mod. If M_1 or M_2 is a *Pr*-uniform module, then M is *Pr*-uniform module.

Proof: Suppose that $\rho: M \rightarrow M_1$ and $j: M_1 \rightarrow M$. Let $L \leq M$, then $\rho(L) \leq M_1$. Since M_1 is a *Pr*-uniform module, hence $\rho(L) \trianglelefteq_{pr} M_1$. $L = j(\rho(L)) \trianglelefteq_{pr} M$. Thus, M is *Pr*-uniform module.

Remember to a non-zero left R -Mod M is said to be fully essential if for each non-zero semi-essential submodule in M is an essential submodule of M , [8].

Definition 3.7:

A non-zero R -Mod M is said to be fully *Pr*-essential if for each non-zero *Pr*-essential submodule of M is an essential submodule of M .

Examples 3.8:

1. Z_8 as Z -Mod is a fully *Pr*-essential.
2. Z_6 as Z -Mod is not fully *Pr*-essential. Since $(\bar{2})$ is *Pr*-essential submodule but not essential submodule of Z_6 .

Proposition 3.9:

Let M be a left R -Mod. Then M is *Pr*-uniform and fully *Pr*-essential if and only if M is uniform.

Proof: \Rightarrow) Assume that $0 \neq N \leq M$, since M is a *Pr*-uniform, then $N \trianglelefteq_{pr} M$. But M is fully *Pr*-essential, so $N \leq_e M$, hence M is uniform.

\Leftarrow) Clear.

Corollary 3.10:

Let M be a regular R -Mod. Then M is uniform if and only if M is a *Pr*-uniform.

4. Conclusions:

In this paper, a generalization of essential submodule, relative complement sub module and uniform module has been introduced which are called pure essential submodules, pure relative complement submodules and pure uniform modules respectively. We also show the following:

- If $N \leq_{pr} M$, then $K \leq_{pr} L$, where $N \leq K \leq L \leq M$.
- Let $f: M_1 \rightarrow M_2$ be an R -epimorphism. If $N \leq_{pr} M_2$, then $f^{-1}(N) \leq_{pr} M_1$.
- If $A \cap B \leq_{pr} M$, then $B \leq_{pr} M$ and $A \leq_{pr} M$, where A, B are submodules of M .
- If $\frac{N}{K} \leq_{pr} \frac{M}{K}$ and $K \leq_p M$, then $N \leq_{pr} M$, with $K \leq N \leq M$.
- If B is a Pr -relative complement to A in M , then $A \oplus B \leq_{pr} M$, with $A \leq_{pr} M$.
- If M is Pr -uniform module, then R is a Pr -uniform ring.

References:

- [1] F. W. Anderson and K. R. Fuller, "Rings and Categories of Modules", *Springer-Verlage, New York*, 1992.
- [2] C. Faith, "Algebra I, Rings, Modules and Categories", *Springer-Verlag, Berlin, Heidelberg, New York*, 1973.
- [3] S. M. Yaseen, W. Kh. Hasan, "Pure – Supplemented Modules", *Iraqi Journal of Science*, vol. 53, no. 4, pp. 882-886, 2012.
- [4] A. K. Mawlood, N. S. Al-Mothafar, "F-Approximately Regular Modules", *Iraqi Journal of Science*, vol. 63, no. 12, pp. 5447-5454, 2022.
- [5] K. R. Good earl, "Ring theory: Nonsingular Rings and Modules", vol. 33. CRC Press, 1976.
- [6] F. Kasch, "Modules and rings", *London Academic Press*, 1982.
- [7] E. M. Kamel, " μ Lifting and μ^* - Extending Modules", PhD. Thesis, University of Baghdad, 2019.
- [8] M. A. Ahmed and M. R. Abbas, "On Semi-Essential Submodules", *Ibn Al-Haitham J. for Pure & Appl. Sci.*, vol. 28, no. 1, 2015.
- [9] A. S. Mijbass and N. K. Abdulla, "Semi-Essential Submodule and Semi-Uniform Modules", *J. of Kirkuk University- Scientific studies*, vol. 4, no. 1, pp. 48-58, 2009.
- [10] N. M. ALThani, "Pure Bear Injective Modules", *Internat. J. Math. & Math. Sci*, Vol. 20, no. 3, pp. 529-538, 1997.
- [11] D. X. Zhou and X. R. Zhang, "Small- Essential Submodules and Morita Duality", *Southeast Asian Bull. Math.*, vol.35, pp.1051-1062, 2011.
- [12] Kh. A. Zanon, "Pure Small Submodule and Related Concepts", M.Sc. Thesis, University of Baghdad, 2023.
- [13] Th. Y. Ghawi, "Purely Quasi-Dedekind Modules and Purely Prime Module" *University of AL-Qadisiya*, 2017.
- [14] D. J. Fieldhouse, "Pure Simple and Indecomposable Rings", *Can. Math Bull.*, vol.13, no.1 pp.71-78, 1970.
- [15] M.A. Majid, and J.S. David, "Pure Submodules of Multiplication Modules", *Contributions to Algebra and Geometry*, vol. 45, no. 1, pp. 61-74, 2004.
- [16] A. Barnard, "Multiplication Modules", *J. Algebra*, vol. 71 no. 1, pp. 174-178, 1981.
- [17] Z.A. El-Bast and P.F Smith, "Multiplication modules", *Comm. In Algebra*, vol. 16, no. 4 pp.755-779, 1988.
- [18] B.H. Al-Bahraany, "A Note on Prime Module and Pure Submodules", *Iraqi Journal of Science*, vol.37, no.4, 1431-1442, 1996.
- [19] D. D. Anderson, "Cancellation modules and related modules", in *Ideal Theoretic Methods in Commutative Algebra*, CRC Press, pp. 13–26, 2019.
- [20] A. G. Naoum, "Regular Multiplication Modules", *Period. Math. Hungarica*, vol.31, pp.102-155, 1995.